
cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

Jofkf<Ls a:t"
1 uxgf k;n

s= ;'g rf+bLsf] uxgf agfpg] k;n 1000.00 1150.00

v= ;'g rf+bLsf] uxgf yf]s tyf tof/L  ljqmL ug{] k;n 3000.00 3450.00

u= ;'g rf+bLsf]  ;fgf  tyf tof/L uxgf ljqmL ug{] k;n 2000.00 2300.00

3= gSsnL uxgf k;ndf 1000.00 1150.00

2 dlb/f k;ndf

dlb/f v'b|f laqmL k;ndf 1200.00 1380.00

dlb/f yf]s laqmL k;ndf 1500.00 1725.00

dlb/f yf]s tyf v'b|f laqmL k;ndf 2000.00 2300.00

3 O{n]S6f|]lgs ;fdfg ljlqm

O{n]S6f|]lgs ;fdfg yf]s ljlqm 3500.00 4025.00

sDKo'6/ tyf sDo'6/ ;fdfg laqmL 2500.00 2875.00

l6 eL ,km|Lh,jfl;Ëd]l;g,Uof; r'Nxf] v'b|f 2200.00 2530.00

3l8 /]l8of] Sofd/f ;fgf O{n]S6|\f]lgs ;fdfg v'b|f 1000.00 1150.00

3l8 /]l8of] Sofd/f ;fgf O{n]S6|\f]lgs ;fdfg yf]s 2000.00 2300.00

sDo'6/ ;km\6j]o/ tof/ ug{] sDkgL 2500.00 2875.00

:jL6/ a'Gg], l;nfO{ d]l;g 1000.00 1150.00

4 ljw't ;fdfg ljlqm k;ndf

s= yf]s ljqmL ug{]df 3000.00 3450.00

v= v'b|f ljqmL ug{]df 1500.00 1725.00

u= yf]s v'b|f ljqmL ug{]df 3500.00 4025.00

5 xf8{jo/ ;fdfg k;n

s= xf8{jo/ ;fdfg v'b|f ljqmL 2000.00 2300.00

v= xf8{jo/ ;fdfg yf]s ljqmL 3500.00 4025.00

u= xf8{jo/ nufPt pNn]lvt ;a} ;fdfgdf 5000.00 5750.00

3= dfj{n ,lrK; cflb ljlqmdf 2000.00 2300.00

u= l;;f tyf KnfO{p8 ;fdfg 1000.00 1150.00

8= 3/df nfufpg] /Ë k;n 2000.00 2300.00

0f= ;jf/L ;fwgdf nufpg] /+ª 1500.00 1725.00

6 cfon lgud

s= ! dfq kDk jf sf/f]jf/ 2000.00 2300.00

v= ! eGbf al9 kDk jf sf/f]jf/ 3500.00 4025.00

u= dl6t]n l8kf] 750.00 862.50

7 sk8f k;n

s= yf]s ljqmL ug{]df 1500.00 1725.00

v= v'b|f ljqmL ug{]df 1000.00 1150.00

u= yf]s v'b|f ljqmL ug{]df 2000.00 2300.00

8 ls/fgf lj;ftf k;n

s= yf]s  ljqmL ug{]df 1000.00 1150.00

v= v'b|f ljqmL ug{]df 750.00 862.50

u= yf]s v'b|f ljqmL ug{]df 1500.00 1725.00

9 k|f]lehg k;n

s= yf]s ljqmL ug{]df 1200.00 1380.00

v= v'b|f ljqmL ug{]df 850.00 977.50

u= yf]s v'b|f ljqmL ug{]df 1700.00 1955.00

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

10 ;jf/L ;fwg las|L

nfO{6 ufl8 ;f] ?d tyf laqmLdf 5000.00 5750.00

x]le ufl8 ;f] ?d tyf laqmLdf 10000.00 11500.00

df]6/ ;fO{sn ;f] ?d tyf laqmLdf 5000.00 5750.00

l/sG8L;g df]6/ ;fO{sn ;f] ?d 2500.00 2875.00

l/sG8L;g nfO{6 df]6/ ufl8 ;f] ?d 3500.00 4025.00

l/sG8L;g x]eL df]6/ ufl8 ;f] ?d 5000.00 5750.00

;fO{{sn las|L 1500.00 1725.00

;jf/L ;fwg ef8fdf lbg] 1500.00 1725.00

11 laif]z1 k/fdz{ tyf cGo Joj;foLs ;]jf
8fS6/ -SnLgLs ;~rfng ;]jf Aoj;fodf_ 3500.00 4025.00

O{lGhlgo/L8 sG;Nf6]lG;df

s= cf]e/l;o/ 2500.00 2875.00

v O{GhLlgo/ 3500.00 4025.00

3= k|f]kfO{6/ l;k kmd{ 4500.00 5175.00

8= ;fem]bf<L ,, 7000.00 8050.00

r= k|f=ln=  ,, 9000.00 10350.00

sfg'gL ;]jf Aoa;fodf 1000.00 1150.00

n]vf k/Lifs

s >]l0fsf] cl86/df 2500.00 2875.00

v >]l0fsf] cl86/df 1500.00 1725.00

u / 3 >]l0fsf] cl86/df 1000.00 1150.00

bGt lrlsT;s 2000.00 2300.00

cg';Gwfg stf{ tyf k/fdz{bftf 2000.00 2300.00

j]e ;fO{8 / k|f]u|fd l8hfO{g/ 2000.00 2300.00

ladf Ph]G6 2000.00 2300.00

;e{]o/ 2000.00 2300.00

cg'jfbs 1000.00 1150.00

kz' lrlsT;s 1500.00 1725.00

z]o/ / cGo bnfn 1500.00 1725.00

Pc/ sfuf{} 1500.00 1725.00

;fdfg 9'jfgL 6fG;kf]6{ Aoa;fo 2000.00 2300.00

;+:yfut k]06/ 5000.00 5750.00

12 lgdf{0f Joj;fo, g=kf=df k|wfg sfof{no ePsf]

7]s]bf/

s >]l0fsf] 7]s]bf/df 10000.00 11500.00

v >]l0fsf] 7]s]bf/df 5000.00 5750.00

u >]l0fsf] 7]s]bf/df 4000.00 4600.00

3 >]l0fsf] 7]s]bf/df 2000.00 2300.00

lghL 7]s]bf/ n]j/ sG6ofS6/ btf{ 10000.00 11500.00

lghL 7]s]bf/ n]j/ sG6ofS6/ glas/0f{ 3000.00 3450.00

13  pBf]u Joj;fo
pTkfbg d'ns pBf]u - 3/Fo;L pWFF]Uf afx]sdf _

s= ? ! nfv ;Ddsf] ]  rfn'  k'hLdf ;~rflnt pBf]udf 2000.00 2300.00

v=? ! nfv b]vL dfyL ? @)))))=)) ;Ddsf] rfn" k'hL 2200.00 2530.00

u=? @ nfv b]vL dfyL ? #)))))=)) ;Ddsf] rfn' k'hL 2500.00 2875.00

3=? # nfv b]vL dfyL ? %)))))=)) ;Ddsf] rfn' k'hL 3000.00 3450.00

8=? % nfv b]vL dfyL ? !))))))=)) ;Ddsf] rfn'  k'hL 3600.00 4140.00



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

r=? !) nfv b]vL dfyL ? @%)))))=)) ;Ddsf]  rfn' k'hL 4500.00 5175.00

5=? @% nfv  b]lv dfly  rfn'  k'hLdf ;~rflnt  ,, 5500.00 6325.00

af]l/ª sDkgL,  tyf kfgL laqm]tf 2000.00 2300.00

phf{ d'ns pBf]]u

xfO8|f] kfj/ 5000.00 5750.00

s[lif tyf aGo hGt"  pBf]u Joj;fodf

s= ? ! nfv ;Ddsf] ]  rfn'  k'hLdf ;~rflnt pBf]udf 1200.00 1380.00

v=? ! nfv b]vL dfyL ? @)))))=)) ;Ddsf] rfn" k'hL 1360.00 1564.00

u=? @ nfv b]vL dfyL ? #)))))=)) ;Ddsf] rfn' k'hL 1600.00 1840.00

3=? # nfv b]vL dfyL ? %)))))=)) ;Ddsf] rfn' k'hL 2000.00 2300.00

8=? % nfv b]vL dfyL ? !))))))=)) ;Ddsf] rfn'  k'hL 2480.00 2852.00

r=? !) nfv b]vL dfyL ? @%)))))=)) ;Ddsf]  rfn' k'hL 3200.00 3680.00

5=? @% nfv  b]lv dfly  rfn'  k'hLdf ;~rflnt  ,, 4400.00 5060.00

ufO{ e}l;kfng , kf]N |̂|L kmd{ 1200.00 1380.00

vlgh tyf aGo pBf]u

s= ? ! nfv ;Ddsf] ]  rfn'  k'hLdf ;~rflnt pBf]udf 1500.00 1725.00

v=? ! nfv b]vL dfyL ? @)))))=)) ;Ddsf] rfn" k'hL 1700.00 1955.00

u=? @ nfv b]vL dfyL ? #)))))=)) ;Ddsf] rfn' k'hL 2000.00 2300.00

3=? # nfv b]vL dfyL ? %)))))=)) ;Ddsf] rfn' k'hL 2500.00 2875.00

8=? % nfv b]vL dfyL ? !))))))=)) ;Ddsf] rfn'  k'hL 3200.00 3680.00

r=? !) nfv b]vL dfyL ? @%)))))=)) ;Ddsf]  rfn' k'hL 4200.00 4830.00

5=? @% nfv  b]lv dfly  rfn'  k'hLdf ;~rflnt  ,, 5500.00 6325.00

14 ko{6g pBf]u

tf/]  :t/ xf]6n

Ps tf/] xf]6n 6000.00 6900.00

b'O{tf/] xf]6n 8000.00 9200.00

ltg tf/] xf]6n 10000.00 11500.00

rf/ tf/] xf]6n 15000.00 17250.00

kf+r tf/] xf]6n 25000.00 28750.00

xf]6n,nh,u]i6xfp;,/]i6'/f cflb Aoa;fo

s= xf]6n tyf nh

! a]8 b]lv !% a]8 ;Ddsf] nfO{ 2000.00 2300.00

!^ a]8 b]lv @% a]8 ;Ddsf] nfO{ 3000.00 3450.00

@^ a]8 b]lv !% dflysf] nfO{ 3500.00 4025.00

/]i6'/fdf

kmf:6km'8 /]:6'/]06 tyf ;fwf/0f k;n 800.00 920.00

! 6]]jn b]lv !% 6]]jn ;Ddsf] ;fwf/0f nfO{ 1500.00 1725.00

!^ 6]]jn b]lv @% 6]]jn ;Ddsf]  nfO{ 2000.00 2300.00

@^ 6]]jn b]lv  dflysf] nfO{ 3000.00 3450.00

kfl6{ Kofn]; 2000.00 2300.00

pNn]lvt /]i6'/fdf af/ ;dfj]; ePdf yk 2500.00 2875.00

,,   ,, /]i6'/fdf lut uhn / l8:sf] cfbL ePdf yk 1500.00 1725.00

lgoldt vfgf k;nnfO{ 1300.00 1495.00

15 6|\]ls8 Ph]G;L 3000.00 3450.00

16 6|fen Ph]lG; 3000.00 3450.00

17 6|]ls8 ;fdfg k;n 1500.00 1725.00

18 uNkm sf];{ 6000.00 6900.00

19 UnfO{lŠé, x^Po< Jofn"lgé cflbsf] l^s^ sfp)^<df 5500.00 6325.00



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

20 ;]jf pBf]u
sn/ Nofadf 2000.00 2300.00

5fkfvfgf, d'b|0ffno 2000.00 2300.00

rnlrq Joj;fo 3000.00 3450.00

xjfO{ ;]jf, l;t e08f/ cflb pBf]u 7000.00 8050.00

6]lnkmf]g ;]jf ;~rfns sDkgL o'l6Pn,d]/f] df]= 15000.00 17250.00

Pkm= Pd /]l8of] 5000.00 5750.00

21 lgdf{0f pBf]u

cfjf; sDKn]S; 5000.00 5750.00

;+rf/ ;]jf

22 ;+~rf/ ;]af - ;fO{j/_

nf]sn, /fli6o,cGt/f{li6o kmf]g km]S; cflb 1000.00 1150.00

df]jfO{n kmf]g laqmL 2000.00 2300.00

/]s8L{ª :6'l8of] 2000.00 2300.00

O{G6/g]6 ;]jf lat/0f 5000.00 5750.00

j]e ;fO{8 l8hfO{g 2000.00 2300.00

u|flkms l8hfO{g tyf sDKo'6/ 6fO{lkË 1000.00 1150.00

;fO{{a/ , Sofkm] 1000.00 1150.00

kmf]6f]slk 500.00 575.00

s'/Lo;{ tyf PS;k|]; 8]lne/L /fli6|\o 1000.00 1150.00

s'/Lo;{ tyf PS;k|]; 8]lne/L /fli6|\o tyf cGt/f{l6|\o 1500.00 1725.00

23 lalQo ;]jf- g]kfn ;/sf/ :jfldTj afx]s

a}+s sf] d"Vo sfof{no 15000.00 17250.00

,,   a}+s sf] zfvf sfof{no 8000.00 9200.00

cfly{s sf/f]jf/ ug]{ laQ sDklgsf] d'Vo sfof{no 8000.00 9200.00

 ,,  sf] zfvf sfof{no 5000.00 5750.00

;xsf/L a}s / art tyf C0f zxsf/L ;+:yf 2000.00 2300.00

lab]lz d'b|f ;6lx 1000.00 1150.00

dlg 6|fG;km/ 1500.00 1725.00

ljdf sDklg 5000.00 5750.00

O{Ge]i6d]06 sDklg 5000.00 5750.00

24 :jf:Yo ;]jf

gl;{8 xf]d tyf c:ktfn Aoa;fodf

 !% ;}of ;Dd Aoj:yf ePsf]df 5000.00 5750.00

 !% eGbf dflysf]df 8000.00 9200.00

8]06n c:ktfn 3000.00 3450.00

8]06n NsLlgs 1000.00 1150.00

x:kL6n ;fdfu|L laqmL 1500.00 1725.00

k|fs[lts lrlsT;f s]Gb| 1500.00 1725.00

hl8a'l6 tyf xj{n ;fdfu|L v/Lb laqmL 1500.00 1725.00

PS;/] tyf Kofyfnf]hLs, Nofj 1500.00 1725.00

25 lzIff ;]jf

8fO{le8 O{:6LRo'6 1500.00 1725.00

sf]lr8 ;]G6/,sDKo'6/ l;sfpg] 1500.00 1725.00

lab]zL efiff sIff ;+rfng 2000.00 2300.00

lglh laBfno

k'j{ k|fylds / dG6]Zj/L btf{ lzkml/; 10000.00 11500.00



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

k"j{ k|fylds b]lv  k|f=la= :t/ ;DdnfO{ 1000.00 1150.00

 k|f=la= b]vL  lg=df=la= :t/ ;DdnfO{ 1500.00 1725.00

lg=df=la= b]vL df=la= :t/ ;DdnfO{ 2500.00 2875.00

df=la= b]vL !)++@ ;DdnfO{ 3500.00 4025.00

lghL SofDk; tyf k|fljlws lzIFfno 1000.00 1150.00

tfnLd tyf cg";Gwfg

xf]:6]n , 5fqfjf; 2000.00 2300.00

26 ;+lut,8fG;,Jo'l6kfn{/,:Sofkmf]lN88 tflnd 1500.00 1725.00

df]jfO{n /]l8of] dd{t tflnd s]Gb| 1500.00 1725.00

lalaw tfnLd ;]jf 1500.00 1725.00

cl8of] tyf lel8of] ;]jf 1000.00 1150.00

27 dd{t ;+ef/ ;]jf

nfO{6 df]6/ ufl8 dd{t 2000.00 2300.00

x]le df]6/ ufl8 dd{t 3500.00 4025.00

 xfjf eg{] , k~r6 6fNg] 500.00 575.00

 ;fOsn dd{t 500.00 575.00

 df]6/ ;fOsn dd{t js{;k 1500.00 1725.00

df]6/ w'g] js{;k 1000.00 1150.00

x]le df]6/ ufl8 af]l8 dd{t 2000.00 2300.00

nfO{6 df]6/ ufl8 af]l8 dd{t 10000.00 11500.00

;jf/L ;fwgsf] kf6{k'hf{ ljqmL k;n 2000.00 2300.00

df]6/;fO{sn kf6{; tyf cGo las|Ldf 1000.00 1150.00

 n'uf l;pg] sn / aGb's dd{t 400.00 460.00

 :6f]e,5ftf ,k|];/ s's/ cfbL dd{t 500.00 575.00

l8hn kDk dd{t 750.00 862.50

 /]lkm|h]/]6/ lx6/ k+vf Uof; r'Nxf] / 6f|G;kmd{/ dd{t 1500.00 1725.00

 lel8of] l6=le 8]s , df]jfO{n dd{t 1000.00 1150.00

38L dd{t tyf laqmL k;n 750.00 862.50

/]l8of] 3l8 dd{t 750.00 862.50

sDKo"6/ dd{t 1700.00 1955.00

28 cGo ;]jf

la1fkg ;]jf 1000.00 1150.00

;]s|]6/Lon ;le{; 1000.00 1150.00

j}b]lzs /f]huf/ ;]jf 3000.00 3450.00

xfplh+u sDklg, 3/ hUuf v/Lb ljlqm kmd{sf] 5000.00 5750.00

29 xhfd tyf Jo'l6kfn{/

$ l;6 ;Ddsf] 500.00 575.00

$  l;6 eGbf dfyLsf]] 700.00 805.00

Ao'l6kfn{/ 1000.00 1150.00

30 ;'lrsf/ k;n

# sn;Ddsf] 400.00 460.00

# b]lv dfly 700.00 805.00

 O{G6/ns O{Da|fO8/L 500.00 575.00

31 sk8f w'nfO{

;fwf/0f k;ndf 500.00 575.00

nfp08\L pwf]udf 1500.00 1725.00

32 kmf]6f] Aoj;fo

s= kmf]6f] lvRg]df 500.00 575.00
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kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

v= kmf]6f] lvRg] / cGo ;fdfg a]Rg]df 750.00 862.50

u= lel8of] t:jL/ tyf kmf]6f] lvRg]df 500.00 575.00

lut /]s8{ tyf lelhof]n tof/ ug]{df 1500.00 1725.00

33 ;fO{gaf]8{ lrq agfpg]df

s= ;fO{gjf]8{ cflb n]Vg]df 400.00 460.00

v= ;fO{gjf]8{, aNs / cGo lrq n]Vg]df 750.00 862.50

u= sk8fdf lrq agfpg] yfGsf cf6{ 1000.00 1150.00

kN:6Ls, t'n Jofg/ cflb tof/ ug]{ 1500.00 1725.00

dfj{ndf n]Vg] 750.00 862.50

3= l8hfO{g ;]G6/ 750.00 862.50

34 df5f, df;', k;n

s= ;fwf/0f k;ndf 1000.00 1150.00

v= km|];xfp;df 1500.00 1725.00

35 k'n, :gf]s/ / ljnLP8{ 1000.00 1150.00

36 km'n la?jf las|]tf tyf g;{/L 700.00 805.00

s6 Nkmjf/ las|L 500.00 575.00

37 ef8f k;ndf

 yf]s ljqmL ug{]df 1500.00 1725.00

 v'b|f ljqmL ug{]df 1000.00 1150.00

 yf]s v'b|f ljqmL ug{]df 2000.00 2300.00

df6fsf] tyf Nkf:6Ls ef8f k;n 500.00 575.00

 lsrg xfp; h:tf ld>Lt k;ndf 2000.00 2300.00

Nkf:6Lssf cGo ;fdfg las|Ldf 2000.00 2300.00

38 :6Ln, sf7 cflbsf kmlg{r/,  las|]tf 2500.00 2875.00

39 v]nf}gf pkxf/ lukm6 las|]tf 1000.00 1150.00

40 g]6 js{ s]jn nfO{g 10000.00 11500.00

l8; Rofg]n 3000.00 3450.00

41 e]6]g/L ;le{; 500.00 575.00

42 Sof6l/ª ;]jf 2000.00 2300.00

cGo Joj;fo

43 Sofl;gf] ;+rfng 50000.00 57500.00

44 d;fh ;]G6/ 1500.00 1725.00

45 l8kf6{d]G6n ;'k/dfs{]6 

s= ;wf/0f 3000.00 3450.00

v= ;'lawf ;DkGg 15000.00 17250.00

46 lstfa tyf :6]zg/L k;n

lstfa k;n dfq 500.00 575.00

 lstfa :6]zg/L k;n 750.00 862.50

 kqklqsf k;ndf 500.00 575.00

47 km]G;L k;n

s= ;fwf/0f k;ndf 1500.00 1725.00

v= cGo lab]zL ;fdfg ;lxt las|L ug]{ km]G;Ldf 2000.00 2300.00

u= s'yf{ ;njf/ las|Ldf 1500.00 1725.00

48 kfg k;ndf 400.00 460.00

49 h'Qf rKkn dd{t k;ndf

# hgf sflnu9df 400.00 460.00

# b]lv dfly 700.00 805.00

50 cf}iflw k;n

 8fS6/L cf}iflw yf]s ljqmL ug{]df 2500.00 2875.00
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kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

  ,,  v'b|f ljqmL ug{]df 1000.00 1150.00

 cfo'{j]lbs cf}iflw yf]s ljqmL ug{]df 1000.00 1150.00

 ,, yf]s v'b|f ljqmL ug{]df 1500.00 1725.00

51 Nkmf]l/8 P08 kmlg{l;8df 2000.00 2300.00

kmf]6f] k|m]dfdf /fvL kmf]6f] ljlqm k;ndf 500.00 575.00

aS;f agfpg] tyf dd{t k;ndf 1500.00 1725.00

52 r'/f tyf >[uf/ ;fdfgdf

 yf]s lalqm ug{]df 1500.00 1725.00

 v'b|f lalqm ug{]df 500.00 575.00

53 r:df ljlqm tyf dd{t 1000.00 1150.00

54 h'Qf rKkn emf]nf lalqm ug{]df 700.00 805.00

55 kz' jf s'v'/fsf] bfgf tyf cf}ifwL ljlqm 1000.00 1150.00

56 lr/fg sf7 dfq ljlqmdf 1000.00 1150.00

57 ldn

s= wfgs'6g],ds} lk;g] h:tf Ps  sfd ug{]df 1800.00 2070.00

v= ,, Ps eGbf al9  sfd ug{]df 2500.00 2875.00

58 ko{6g ;fdfg lalqm ug{] - xof08Ls|ofkm6 _k;ndf 1000.00 1150.00

59 ;fO{8 l;g,b[Zofjnf]sg kmd{ Aoj;fodf 1500.00 1725.00

60 laleGg pkxf/ sfo{qmdsf] 2500.00 2875.00

61 l6s6 /Lh{e];g 1200.00 1380.00

62 l8n/

r'/f]6, ljl8 h:tf w'd|kfgdf                                4000.00 4600.00

l/rfh{ sf8{ l8n/ 1000.00 1150.00

xNsf k]o kbfy{ las|L l8n/ 2000.00 2300.00

Uof; l8n/ tyf ljqmLdf 2000.00 2300.00

cGo l8n/ 2000.00 2300.00

63 sjfl8 sf/f]jf/

KNff:6Ls,sfuh cflbdf 10000.00 11500.00

cGo ;a}df 25000.00 28750.00

64 kmnkm'n t/sf/Ldf

yf]s las|Ldf 1000.00 1150.00

v"bf| las|Ldf 750.00 862.50

km|]; h'; las|Ldf 500.00 575.00

65 d];Lg/L cf}hf/ / d]l;g lalqm 3000.00 3450.00

66 lglh v]ns'b :yn, :kf]6{; Nsa 1500.00 1725.00

67 of]uf>d Wofg s]Gb| 1000.00 1150.00

68 kf}l8 kf]v/L 1000.00 1150.00

69 sl6ª 9'+uf, lul6[, afn'jf, O{6f ;Knfo;{ 2000.00 2300.00

70 6]G6 xfp; 1500.00 1725.00

71 ;fp08 l;i6d ef8df tyf las|L 1000.00 1150.00

72 v;L af]sf lHfpbf] ljlqm 750.00 862.50

73 ufpgu/ ;fem]bf/L sfo{s|d 4f/f nufgL Joa;fosf] xsdf dfq 360.00 414.00

74 ldlg dfs]{6 tyf ;lkª sDKn]S; 10000.00 11500.00

75 PSo'l/od k;n 750.00 862.50

76 a6g tyf r]g ;k 500.00 575.00

77 Hof]ltif ;]jf 750.00 862.50

78 plg wfuf] laqm]tf 500.00 575.00

79 l;d]G6] /]lnª,rf}sf];,d'lt{ agfpg] 1000.00 1150.00

80 l;g]df xn 8000.00 9200.00



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

81 af; laqmL k;n 750.00 862.50

82 s'v'/f tyf a+u'/ kfng kmf/d 850.00 977.50

83 o'/f]uf8{ las|L 1500.00 1725.00

84 dfGb|f] esf/L, u'Gb|L cflb 500.00 575.00

85 rfjL dd{t tyf las|L 500.00 575.00

86 lel8of] u]d 1000.00 1150.00

87 sf7df a'6[f eg]{ 1000.00 1150.00

88 afBafbg ;fdfu|L las|L 750.00 862.50

89 k'hf ;fdfu|L 500.00 575.00

90 Jofod;fnf tyf lhd xfp; 1000.00 1150.00

91 ;f}o{ phf{ tyf ;f]nf/ 1500.00 1725.00

92 ldSr/ tyf efO{a|]6/ ef8fdf lbg]df 2000.00 2300.00

93 #< / hUuf afxfn <sdsf] 10%sf b<n] #< / 10%

hUuf wlgaf^ #< / hUuf afxfn s< lng] M

94 aflif{s ;jf<Ls<

s= a; |̂s cflb &'nf ;jf<L ;fwg ko{^s ;d]tPssf] aflif{s ? 1200.00 2000.00

v= efŠfsf,ko{^gsf ldlga; cflb demf}nf ;jf<L ;fwg Pssf] aflif{s 700.00 1500.00

u= lghL cflb demf}nf ;jf<L ;fwg Pssf] aflif{s ? 800.00 1500.00

#= lhk,sf<, ]̂S;L efŠfsf] cflb ;fgf ;jf<L ;fwg 250.00 1000.00

Š= lhk,sf<, ]̂S;L lghL cflb ;fgf ;jf<L ;fwg Pssf] aflif{s ? 400.00 1000.00

r= lghL |̂|]S^< 250.00 700.00

%= kfj< ]̂n< |̂]S^< cflb Pssf] aflif{s ? 150.00 500.00

h df]̂ < ;fO{sn :s"^< cflb Pssf] ? 75.00 200.00

em= ]̂|S^< &"nf] 500.00 700.00

95 dgf]<Ghg s<

s= l;g]df xn ut aif{sf] ;_emf}tf cg";f< k|lt dlxgf 8000.00 8000.00

v= s]j"n nfO{g 30000.00 34500.00

u= 8 D l;g]df k|ltdlxgf 1000.00 1000.00

k|lt s]j'n u|fxs df;Ls? 10.00

Kof<f UnfO{lŠñ< o:t} cGodf l^s^ <sddf 5.%

#= dx]T;j leq <flvg] <dfOnf] d]nf k|lt lbg  5000.00 5000.00

96 la!fkg k|of]u / ;fj{hlgs xf]lŠéaf]Š{ k|lt ju{ lkm^ 100.00

lŠ=lk=P;= af]Š{ k|lt ju{lkm^ ? 75.00

leQ] n]vg k|lt ju{lkm^ ? 50.00 25.00

t'n Jofg< k|lt Pssf] k|lt xKtf 300.00

dfO{lsé k|rf< lkmNdxn afx]s k|lt lbg ? 40.00 200.00

lŠlh^n nfO{^ lnŠ 1 250.00

u]^ lgdf{)f k|lt u]^ 25.00 2000.00

98 lzkmfl<; b:t"< 

2= gS;fkf; gfp;f<L cf<=l;=l; #<sf] k|lt ju{lkm^ 1.00 2.00

3= gS;fkf; gfp;f<L sRrL #<sf] 0.50 1.00

5 gfu<Lstf l;kmf<L; 20.00 25.00

6 aQL / kfgL l;kmfl<; 1000.00 1500.00

7. JolQmut #^gfbtf{ / k|ltlnlk 50.00 50.00

8= #<, af^f] k|dfl)ft km"s"jf l;kmf<L;  k|lt lsQf 250.00 500.00
s= #<,af^f] k|dfl)ft km"s"jf l;kmf<L;  lsQf kmf]]Š  k|lt lsQf 500.00 1000.00

10= cGo l;kmf<L; 200.00 300.00

11. hUuf btf{ l;kmfl<; k|lt <f]kgL 2000.00 2500.00

12. sDKo"^< c_u|]hL ^fO{k l;kmfl<; kmf]^f] k|dfl)ft gug]{ 300.00 400.00

13. sDKo"^< c_u|]hL ^fO{k l;kmfl<; kmf]^f] k|dfl)ft ug]{ 500.00 600.00



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

14= rf< lsNnf k|dfl)ft l;kmfl<; k|lt 8 cfgf ;Dd 200.00 300.00

15= rf< lsNnf ;f] eGbf dfly ePdf k|lt cfgf yk ? 10.00 15.00

16= ;DaGw laR%]b lzkmf<L;df 50.00 50.00

17= #< sfod lzkmf<L; k|ltju{lkm^ 0.50

99  ;_:yf btf{ lzkmf<L; tyf glas<)fdf

s= gof btf{ lzkmf<L;df 200.00 1000.00

v= glas<)f lzkmf<L; k|lt aif{

5 nfv ;Ddsf] sf<f]af<df 80.00 300.00

10 nfv ;Ddsf] sf<f]af<df 160.00 500.00

20 nfv ;Ddsf] sf<f]af<df 320.00 1000.00

40 nfv ;Ddsf] sf<f]af<df 480.00 2000.00

50 nfv ;Ddsf] sf<f]af<df 800.00 2500.00

50 nfv eGbf dflysf] ;a}df 1200.00 3500.00

100 lghL laBfno ck u|]Š l;kmf<L;

s lg=df=la= ;Ddsf nflu 1600.00 2000.00

v= df= la= ;Ddsf nflu 2000.00 2500.00

u= pRq df=la= sf nflu 2400.00 3000.00

101  cfo >f]t k|dfl)ft lzkmf<L; 

s= cfo >f]t k|dfl)ft lzkmf<L; s[ifLdf  k|lt ;odf 0.40 0.50

v=. tnj,eQmf,k]G;g,Jofh,af]g;,z]o< k|lt ;odf 0.16 0.20

u= oftfoft tyf cGo cfo>f]t k|lt ;odf 0.48 0.60

102 lkr kmf]Š\g] z"Ns œ g=kf= sf]ifdf bfvLnf ug]{ •

   s= ;"?sf] 1 ld^<df 3000.00 5000.00

   v= To;kl% k|To]s ld^<df 700.00 1000.00

103 kmf<d b:t"<

s=#< gS;fkf; kmf<d b:t"<

   s < v au{sf] ejgsf]nflu 1000.00 1000.00

   u < # au{sf] ejgsf]nflu 700.00 700.00

   cGo lgoldt ug]{ ejgsf] nflu 1200.00 1500.00

v ljljw b<vf:t kmf<dsf] lgz"Ns lgz"Ns

u. dd{t kmf<dsf] 700.00 700.00

#. gful<stf kmf<dsf] lgz"Ns lgz"Ns

Š. ]̂)Š<  kmf<dsf] œ lg)f{o cg";f< •

104 pBf]u :yfkgf l;kmf<L; tyf  w<f}^L

s= 2 nfv ;Dd k"lh ePsf]df 3000.00 3000.00

v= 2 nfv eGbf dfyL k"lh ePsf]df 5000.00 5000.00

u= lzkmf<L; b:t"< 160.00 500.00
gf]^ : pBf]u g=kf=df btf{ kl% w<f}^L lkmtf{ ug]{

105 :jLs[t kq jf gS;fk]z gx"g] #<sf] km"s"jf lzkmf<L; b:t"<

s= sRrL#< 500.00 0.00

v= kSsL #< l;d])^ hf]ŠfO{df  k|ltju{lkm^ 1.00 0.00
u= gS;fkf; gfp;f<L gx'b} #< km's"jf x"g] ePdf gS;fgfp;f<L b:t'< lng]

106 gDa< Kn]^ b:t"<

#<sf] Nas g= Nk]^ 1 kSsL #<sf] 200.00 300.00

#<sf] Nas g= Nk]^ 1 sRrL #<sf] 100.00 300.00

&]nfufŠL, e]g 1 :j]b]zL 100.00 200.00

&]nfufŠL, e]g 1 ljb]zL 200.00 300.00

107 ejg lgdf{)f dfkb)Š 2072 kl%sf] #< lgdf{)fdf gS;f kf; b:t'<

dfnkf]t d'Nof_sg b<<]̂  cg';f< 1 s<f]]Š eGbf dflysf] d'Nof_sgdf kg{] hUufx?df 

hldg tnf k|lt ju{lkm^ 16.00 26.00



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

klxnf] tnf k|lt ju{lkm^ 17.00 28.00
bf]>f] tnf k|lt ju{lkm^ 18.00 30.00
Nas hf]ŠfO{ 10.00 10.00
dfnkf]t d'Nof_sg b<<]̂  cg';f< 50 nfv dfly 1 s<f]Š ;Dd d'Nof_sgdf kg{] 

hUufx?df 

hldg tnf k|lt ju{lkm^ 12.00 20.00
klxnf] tnf k|lt ju{lkm^ 14.00 22.00
bf]>f] tnf k|lt ju{lkm^ 16.00 24.00
Nas hf]ŠfO{ 9.00 9.00
dfnkf]t d'Nof_sg b<<]̂  cg';f< 30 nfv b]lv dfly 50 nfv leqsf] d'Nof_sgdf kg{] 

hUufx?df 

hldg tnf k|lt ju{lkm^ 11.00 16.00
klxnf] tnf k|lt ju{lkm^ 12.00 18.00
bf]>f] tnf k|lt ju{lkm^ 13.00 20.00
Nas hf]ŠfO{ 8.00 8.00
dfnkf]t d'Nof_sg b<<]̂  cg";f< 30 nfv ;Ddsf] d'Nof_sgdf kg{] hUufx?df 

hldg tnf k|lt ju{lkm^ 9.00 10.00
klxnf] tnf k|lt ju{lkm^ 10.00 12.00

bf]>f] tnf k|lt ju{lkm^ 11.00 14.00
Nas hf]ŠfO{ 7.00 7.00

1= sDkfp)Š jfn <lgélkm^ 3.00 3.00

2. df^f] hf]ŠfO{af^ x"g] lgdf){f sfo{sf] gS;fkf; b:\t""< 2.00 2.00

3. sRrL œkm"Ssf ("éfsf]• lgdf{)f sfo{df gS;fkf; b:t"< 1.00 1.00

4= e'ldut / ;]ld e'ldut gS;fkf; b:t'< k|ltju{lkm^ 10.00 10.00

108 lwtf] tyf ;Dklt d"Nof_sg z"Ns k|lt ;odf '0.04% 0.50

109 sfGhL xfp;df <flvg] rf}kfofsf] lgDgfg";f< <sd b}lgs lng] 

s. e};L, <fuf cflbnfO{ 100.00 200.00

v. ufO{, uf]? cflbnfO{ 50.00 100.00

u. #f]Šf, vRrŠ, uwf cflbnfO{ 150.00 300.00

#. ab]n, a_u"<, ;"_u"< cflbnfO{ 200.00 400.00

110 c:yfO{ #"DtLk;n s< k|ltlbg Pssf] œ lgodfjnL 2056 sf] 

lgod 142 cg';"lr 10 sf] 18 cg";f< c:yfO{ xf^ahf< jf #"DtL k;n

s. skŠf k;ndf 10.00 10.00

v= xf¤;, s"v"<f, Šf]sf], ^f]s<L Pssf] 3.00 3.00

u. gfDnf], esf<L h:tf r"ofaf^ lgld{t a:t"" ef<L 1 sf] 5.00 5.00

#. efŠf jt{g lalqmdf 5.00 5.00

ª= t<sf<L lslqmdf 4.00 4.00

r Kfmnkm"n lalqmdf 4.00 4.00

%= r"<fkf]t] cflb lalqmdf 4.00 4.00

h= &]nfuflŠ Š"nfO{ dfn;fdfg lalqmdf 7.00 7.00

em= a<km tyf kfp<f]^L Eofgdf 7.00 7.00

`= cGodf 5.00 5.00

111 c:yfO{ xf^ ahf< s< k|lt lbg Pssf]œ lgodfjnL 2056 sf] 

lgod 142 cg';"lr 8 sf] 18 cg";f<•

s= v;L, af]sf, e]Šf, Rofª|u|f lhp 1 sf] 10.00 15.00

v= <fuf], e};L  lhp 1 sf] 30.00 40.00

u= cGo k;n tyf &]nf 1 sf] 7.00 10.00

#= xf_; s"v"""<f cflb ^f]s<L 1 sf] 2.00 10.00

gf]^ - kfngsf] nflu NofPsf] Ps lhpsf] %"^ M

112 kfls{é b:t"< b}lgs œ g=kf=n] tof< agfPsf] a;kfs{ •

s. «̂s j; h:tf &"nf ;jf<L ;fwgsf] 50.00 50.00



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

v. ldlgj; h:tf d´f}nf   ,, 30.00 30.00

u. lhk, sf<, n])Š<f]j< h:tf ;fgf ;jf<Lsf] 15.00 15.00

#. kfj< ]̂n<, «̂ofS< cfbLsf] 10.00 10.00

113 g=kf=hUuf œ;fj{hgLs� efŠf b:t"< df;Ls k|tL ju{lkm^ lgDg cg";f< lng]

s= jŠf g_= 6,8 < 9 sf] d"Vo ahf< If]q 10.00 20.00

v= ;f] b]vL afx]s If]qsf] 7.00 15.00

114 ;efu[x xn b:t"<

s.pb\#f^g, k|arg h:tf v"Nnf sfo{s|d k|lt lbg 1 sf] 10000.00 12500.00

lghL :s'nsf] cleefjs lbj; 11000.00 13750.00

v= cfocfh{g ug]{ k|lt aGb sfo{s|d Pssf] 16000.00 20000.00

u= cfocfh{g ug]{ Ps zf] eGbf a(L aGb sfo{s|d sf] 20000.00 25000.00

#= xn vfnL ePdf l<x;{n klt lbg 3000.00 3750.00

Š. Aflx< rf}< dfq k}of]u ug{}df k|lt lbg 1500.00 1875.00

r= dfly tnsf] nla dfqsf] k|of]udf k|lt nla k|lt lbg 2500.00 3125.00

gf]^œs•bkmf v < u sf] sfo{s|d ;_# ;_:yfaf^ k|bz{g ePdf

b; k|lt;t <sd %"^ lbg ;lsg] t< pQm sfo{s|d

zlgjf<sf lbg ePdf %"^ gx"g] M

Ps k^ssf] nflu dfq ldlt kl<at{g 1000.00 1500.00

sfo{s|d ;_rfng ubf{ k|lt :^n k|lt lbg ? 200/- œ lgif]lwt kbfy{ afx]s • 200.00 300.00

115 cltly u[x

s= clws[t :t< sd{rf<Lsf] k|lt sf]&f Pssf] 400.00 400.00

v. cGo œ<f=k=c=• sd{rf<L   ,,      ,, 300.00 300.00

u= Jofkf<L tyf ko{^s afx]s ? 400.00 400.00

#= lalzi^ sIf 500.00 500.00
gf]̂ : g=kf=n] lgdGq)ff u<]sfcltly afx]s cGo;_u <sd lng] /

116 PDa"n]G; ;]jfdf

s= kf]=p=d=g=kf= gu< If]q 100.00 100.00

v= : ]̂r< s]zdf 200.00 200.00

u= kf]v<f sf&df)Šf} 3500.00 3500.00

#= kf]v<f gf<fo)f#f^ ;"gf}nL 5000.00 5000.00

Š= kf]v<f kfNkf ;"gf}nL 4000.00 4000.00

r= kf]v<f jfUn"é 1600.00 1600.00

%= kf]v<f Zof_éhf 800.00 800.00

117 kf]n, tf< nfO{g la:tf< z"Ns

kf]=p=d=g=kf=If]qleqsf] ;Šs lsgf<f, km"^kfy, ;fj{hlgs hUuf cflbdf g]kfn laBt 

k|flws<)f, g]kfn ]̂lnsd < s]j"n nfO{g cflbn] kf]n, Soflag]^, tf< |̂fG:km<d<,cflb 

<fvL nfO{g la:tf<df lgDg cg";f< df;Ls z"Ns lng] M

laB"t ;DaGwL

s= s]Gb|Lo laB"t nfO{gsf] kf]n Pssf] 1800.00 1800.00

v= ;fwf<)f kf]n Pssf] 500.00 500.00

u= |̂fG;kmd{< Psssf] 1000.00 1000.00

#= tf< nfO{g Pssf] k|lt ld^< 0.05 0.05

g]kfn ^]lnsd

s= ;fwf<)f kf]n Pssf] 70.00 70.00

v= tf< nfO{g Pssf] k|lt ld^< 0.10 0.10

u= Soflag]^ Pssf] 300.00 300.00

#=s]j"n nfO{g tf< k|lt ld^< 0.15 0.15

118 vfg]kfgL kfO{k nfO{g la:tf<

s= &'nf] kfO{k 20 O{Gr k|lt ld^< 0.10 0.10

v= cGo ;gf] kfO{k k|lt ld^< 0.05 0.05

119 rnlrq %fofs_g z"Ns 



cg';"lr #

;_s]t  Joj;fo ljj/0f 2073/074 2074/075

kf]v/f n]vgfy dxfgu/kflnsf sfof{no
 s/ tyf z'Nsx?sf] b/

s= g]kfnL rnlrq %fofésgdf k|lt lbg 500.00 500.00

v= lab]zL rnlrq %fofésgdf k|lt lbg 1000.00 1000.00

u= cGo %fofésgdf k|lt lbgsf] 200.00 200.00

120 sfof{no ;efsIf efŠf k|ltlbgœ xn vfnLeP dfq• 0.00 0.00

121 Joa;fo btf{ k|df)f kq k|ltlnkL / Plss[t s< lan k|ltlnlk 50.00 50.00

122 k|rf< k|zf< :^n 4 k'm'^ nDafO{ < 4 km'^ rf k|ltlbg

s= Joa;foLs k|of]hg 500.00 3000.00

v= ;'rgfd'ns 250.00 1000.00

123 cWoog cjnf]s b:t"<

s= lglh gl;{é SofDk; k|lt laBfyL{ k|lt xKtf 100.00 100.00

v= ;fd'bfoLs gl;{é SofDk; k|lt laBfyL{ k|lt xKtf 50.00 50.00

u= ;f]wkq < cGo cWoog 2000.00 0.00

124 kfls{é z"Ns b}lgs

s= a; ^|s ldlga; 25.00 25.00

v= ^\ofS;L Eofg, dfO{s|f]j; 20.00 20.00

u= kfj<l^n< ^\ofS^<, 10.00 10.00

#= lglh lhk,sf< 15.00 15.00

ª df]^< ;fO{sn :s'^< 7.00 5.00

125 b[Zofjnf]sg / z"Ns lbk

v= lab]zL ko{^s 25.00 800.00

u= g]kfnL ko{^s laBfyL{ afx]s 10.00 200.00

#- g]kfnL laBfyL{ 5.00 100.00

126 dxf]t;j d]nf b:t"< k|ltlbg 10000.00 10000.00

127 ^fj< cg'dlt b:t'<

^]lnkmf]g ^fj< klxnf] k^s cg"dlt b:t"< 10000.00

^]lnkmf]g ^fj< klxnf] bf]>f] aif{ b]lv glas<)f b:t"< 5000.00

<]lŠof] Pkm Pd= ^fj< klxnf] k^s cg"dlt b:t"< 5000.00

<]lŠof] Pkm Pd= ^fj< bf]>f] aif{ b]lv gla<)f b:t"< 2000.00

128 Kof<fUnfO{lŠé, cN^|fnfO{^, aGhLhDk, lhk Nkmfo< cg"dlt b:t"< 100000.00

Kof<fUnfO{lŠé, cN^|fnfO{^, aGhLhDk, lhk Nkmfo< glas<)f b:t"< 50000.00

129 hUuf Nkl^é k|lt <f]klg ? 10000.00 10000.00

130 hUuf ;Ddfpg] k|lt <f]klg ? 5000.00 5000.00

131 sjfŠL tyf xfŠ l;_ %fnf

lao< af]Qn ! Sf] ? 1.00

dbL<f vfnL l;=l; 500 Pd=Pn dfyL 0.50

dbL<f vfnL l;=l; 500 Pd=Pn ;Dd 0.25

Nkf:^Ls af]Qn < efŠf s]hL 1 sf] ? 2.00
knfd < cGo wft' s]=lh= 1 2.00
h:tf kftf / cGo l^g s]=lh 1 1.00
sfuh k|lt s]=lh 0.75
cGo ;lfdfg s]=lh= 1 1.00
xfŠ l;é v'< s]=lh= 1 2.00

%fnf uf]^f 1 20.00
132 af]l<é

kfgL k|lt 1000 ln= ^\ofés< 75
kfgL k|lt 500 jf tn ^\ofés< 40


